[ Jet pT resolution, 0.0<n|<0.5 ]

I

0.35

0.3

+

0.25

+

0.2

0.15

0.

[y

0.05

=alpakaQCDPU
-QCDPU

va)

0.95

10?

[Jet pT resolution, 2.1<n[<2.5 ]

10°

0.8

0.7

0.6

-+

0.5

0.4

0.3

0.2

0.1

fRvs)

-

s
MELELER) | B
T
"

b

0.95

10?

10°

[ Jet pT resolution, 0.5<n|<1.3]

i

0.4
0.35
0.3

+

0.25

0.2

0.15

0.

[y

e

0.05

-
H""""ﬂ

.+

1.0

=
£

* |

T
T

0.95
10?

[Jet pT resolution, 2.5<|n|<3.0 ]

10°

1.6

1.4

1.2

iy

R R RS LR R RRRE LR
+

0.8

0.6

+

0.4

0.2

FRve)

—t—at— - | ==

s
TTT T T

0.95
10?

10°

[ Jet pT resolution, 1.3<|qj<2.1]

0.5

<+

0.4F
[ +
0.3F
[+
I -+
0.2_— -
L -+
o1 -
C T,

[Jet pT resolution, 3.0<|n|<5.0 ]

pa w

0.5F
04F +
0.3F
N -+
02 *
. ++—+- +
s ars I
01 ++

10°




	Contents
	Page 1


